Candidates’ Performance

There were 11 507 candidates for the Business, Accounting and Financial Studies examination this year. g3+
candidates chose the Accounting Module and 3190 chose the Business Management Module. Approximately

54% of candidates sat the English papers.

Paper 1

Section A

There were 30 multiple-choice questions in this section. The mean score was 38 out of 60 marks for thg

section.

The percentage correct was, lowest overall in the following questions:

1. Which of the following statements about Asia-Pacific Economic Cooperation is/are correct?

(1
)]
(€))

It settles trade disputes in the Asia-Pacific region. . ;
It promotes sustainable economic growth in the Asia-Pacific region. _ ’
It encourages cooperation on trade and investment in the Asia-Pacific region through

high-level government-to-government dialogues.

(1) only (4%)

(1) and (2) only (23%)

(2) and (3) only (42%)
(1%)

(1), (2) and 3)

Many candidates were not familiar with the role and functions of Asia-Pacific Economic Cooperation.

2. Assume that no account balance is missing from a trial balance. If the total of the debit balances and

the total of the credit balances of the trial balance are not equal, it means that

1)
)
(€))

K.
B.
C.
D.

one or more ledger balance(s) in the trial balance is/are wrong
the statement of financial position will not balance
the net profit in the income statement will be wrong

(1) and 2) Olﬂy (38%)
(1) and (3) only (15%)
(2) and (3) only (4%)

(1), (2) and (3) (43%)

Many candidates ignoreq .the fact that some account balances in a trial balance are shown in the
statement of financial position only but not the income statement, so errors in these balances would not
affect the net profit figure,
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Anna is 62 years old and works as a part-

. time ¢ : g
1. Under the Mandatory Provident Fund System, wl(::: l\:/lltﬁn; n a firm, with 3 monthly salary of $40 000

€ the amount Anna contributes each month?

A. $4000
000
*C. %0 (43%)
D. (35%)
(14%)
idates failed to take the ceiling f ibuti
any cand g lor contribut i
::count lons to the Mandatory Provident Fund into
;5. Which of the following is not a use of financia] statements?
A. assist different users in making decisions
. . . 0,
B. provide information about the financial position of a business (g‘ﬁ)
‘C. prOV}ccile mfolt"ma.tlor-\ to employees for assessing their job security (5(0"/3
D. provide qualitative information regarding the performance of a business (40%)

Many candidates failed to recognise that em

ployees are also u i
financial statements are useful to employees. %1800 fimancial stxtements and lHow

Section B

Part 1

Question :
Number Performance in General

1 (@) | Poor. pandidates were unable to give a full explanation of what a joint venture is. Most of
them missed the meanings of ‘separate entity’ and/or ‘joint project(s)’.

(b) | Satisfactory. Most candidates were able to state the advantages of running a business in the
form of a joint venture.

2 (@) | Fair. Many candidates were able to list Mary’s financial needs. However, many failed to
offer appropriate explanations and/or examples. Some candidates stated the needs of an
investor instead of someone who has retired.

(b) | Fair. Many candidates were able to list Mary’s responsibilities as an investor. However,
some candidates wrongly listed her rights as an investor instead. Some gave the
responsibilities of the financial planner as answers.

3 (@) |Good. Most candidates were able to state the form of departmentalisation of the two
companies.

(b) | Very good. Most candidates were able to identify the General Manager, who has a wider span
of control.

(c) | Fair. Many candidates were able to name the ‘risk management department’ but some failed
to explain its main role.

(d) | Good. Many candidates were able to identify the accrual concept and show that the
electricity expense should be recorded in 2016. However, some candidates failed to explain

{\ the accrual concept accurately.
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B R T

Part 2

Pﬂr‘/"/’/fl’erformance in General \

Question Popularity

| Number
i didates were able to compile a corr :
47% Very good. Most candi oot il
F‘ (a) . Hor\yvever, some of them did not show the fqmat properly. The COlumntLalance-
of Dr and Cr and/or the dollar signs were missing. eaders

Most candidates failed to explain the meaning of business ethics.

the meaning of social responsibilities insteaq_ Some

(b) Poor.
of them mistakenly gave

. Poor. Candidates were unable to give an appropriate example. Man

(cXi) mistakenly quoted measures required by the law, e.g. minimum wage Y of thep

(ii) Poor. Many candida.tes failed to refer to the case scenario and gave exampleg
related to a production plant instead of a grocery store. Some candidate
quoted examples of marketing strategies instead of social responsibilities, :

5 (@) 53% Very good. Most candidates produced a correct income statement with correct
net loss figure. However, in the calculation of cost of goods sold, some of

them mistakenly took the opening capital as opening inventory while some
missed out the closing inventory.

(b) Satisfactory. Most candidates stated the management function of ‘Planning’
but some gave ‘Management by Objective’ and “Unity of Direction’ as answers ’

© Poor. The reasons for setting goals for John’s firm were not well explained
Quite a number of candidates mentioned the advantages of Management b5}

Objective as answers.

General comments and suggestions

Candidates were yveak in questions requiring the application of knowledge and analysis of information, and th
were unable to give a.pprc.)priate elaboration on their answers. Many candidates did not seem to ha\,fe studi:;
car;:fully thq information in, and the requirements of, the questions. Answers just presented textbook material
which were irrelevant to the questions. Some gave answers for similar questions set in previous papers i

Candidates are encouraged to pay attention to issues in th i
' ' e business world and take part in case di ions i
class so that they use their business knowledge and skills to tackle real business problepms gl
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(Accounting Module)

paper 2A
section A
estion .
1?;:1mb o Performance in General

. (a Very good.  Most candidates were able to identify the a ti incipl i
had been applied in each of the i) fy ccounting principle or convention that

®) Poor. Many candidates were able to identify correctly the accounting principle that had been
applied. However, Some of the explanations were not appropriate. Quite 2 number of
f:andldates falled_ to indicate that the value of the calculator was insignificant and would not
influence the decisions of users of financial information.

2 (a) Satis.factory. Most candidates were able to find out the correct number of units remaining in
the inventory, though some were unable to compute the weighted average cost per unit of
inventory.

(b) Very good_. Most candidates demonstrated an adequate understanding of the various items to
be shown in an income statement.

(c) Fair. Most .candidates were able to arrive at the correct amount and also mentioned that there
was a reduction in gross profit. However, many did not state the application of the lower of
cost and net realisable value rule in their explanation,

3 (a) Satisfactory. Most candidates were able to compute the depreciation expense for year 2015.
Some failed to realise that the machine had reached its expected total production hours in year
2016 and they wrongly used 2500 actual production hours to compute the depreciation expense
for year 2016.

(b) Very good. Candidates were generally able to compute the amounts of overheads for items (i)
to (iii).

() Good. Most candidates were able to identify the type of cost for R. Some overlooked the
requirement of using cost behaviour as the basis for identifying the cost type.

(d) Good. Most candidates were able to identify the type of manufacturing overhead which was
irrelevant for deciding whether to accept the special order. However, some candidates were
not able to give appropriate explanations with reference to its cost behaviour.
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Section B
Question

Number i
Fact Most candidates demon.strated a good unc:erstarégl?(i (t’li:he C?Sh at bank accoun;
4 (a) Satisfactory. lost marks for not giving proper ?CC‘OUH nam 1 postings in the accoum.
i e not able to give correct descriptions for wrongly recorded rent apg Tateg,
Candidates were In addition, some candidates did not make the °0rreci

i tale cheque.
dishonoured cheque or st eqL '
entries for the term deposit and its interest income.

' . re able to commence with the updated balance of the cag
(b) Satisfactory. Most candidates we unpresented cheques and uncredited deposits inht;;

how the adjustments for ( . ) .
Eﬁ ?:gg::itl;[:iiz statement. However, some did pqt recognise the incorrect debit Made by
the bank and ignored it completely in the bank reconciliation statement.

: : lems in adjusting the cash sale, which wag Wrong]
Satisfactory. Many candidates had Prob : : . rongly
2 treated aer credit sale and recorded in the sales journal accordingly. Many u}cluded profit
and loss’ or ‘retained profits’ before the expenses and revenue ?ccounts in the.Joumal entries
without considering when the errors were identified. In addition, some candidates fajleq to

provide proper account names in the journal entries.

Fair. Many candidates were able to show all necessary adjustments for computing the
adjusted net profit for the year 2016. Some candidates (:lld not provide c!ear descriptions for
the adjustments in the statement, however, while others included the retained profits brought

forward as an adjustment of current year profit.

(®)

© Fair. Many candidates were not familiar with the calculation of the gearing ratio. Some
failed to include preference share capital in the numerator, others were not able to find out the
correct components for shareholders’ fund in the denominator. Some candidates did not

express the ratio as a percentage.

(@ Poor. Many candidates gave answers without referring to the differences in terms of rights to
dividends for ordinary shareholders and preference shareholders. Candidates tended to state
the differences in characteristics between the two types of shares. Some candidates had the
misconception that the dividend entitlement of preference shareholders was guaranteed.

6 (a) Satisfactory. Many candidates were able to work out the correct contribution margin per unit
for the single product. Some candidates mistakenly used the sales volume to calculate the
variable cost of goods sold per unit and thus got wrong the per unit amounts of direct materials
and direct labour.

(b) Fair. Most caqdidates managed to work out the breakeven sales amount for 2016. However,
some either omitted the under-absorbed fixed production overheads when computing the total
fixed overheads or treated the breakeven units as the final answer.,

(©) Poor. Many candidates were not able to calculate the predetermined fixed production
overhead absorption rates in terms of per direct labour hour and per machine hour for the
company as a whole. Some candidates had the misconception that the absorption rates for

each unit of M1 and Super-M were to be calculated i : ayite
manner. ated in a completely independent and sep

(d) Fair. Most candidates were able to recommend machine hours as the cost absorption basis 10

the company, though they did not S justificati in
; g > tate the justificat i i e machiné
intensive nature of the co pany’s production, ] ion of their choice, e.g. th

4__‘—’-,

51



gection C

[qesion |
Question Popularity

Pe i
e rformance in General

=0 35% Poor. Most candidates were

able to list the basic items of an income
statement. However, some of

; them ignored the payments of part-time staff
salaries and Mark’s drawings when calculating the amount banked and thus

failed to work out the correct sales amount.  Similarly, some candidates got
wrong answers when calculating the purchases amount since they ignored the
unpresented cheque issued for purchase of goods. Many candidates did not
consndc?r the outdated goods which were sold at cost and were thus not able to
ascertain the correct amounts of gross profit and inventory loss. Most
candidates were able to work out staff salaries and rent and rates correctly,

though many of them were not able to show the correct amounts for sundry
expenses and depreciation of the motor van.

(ii) Poor. Many candidates wrongly treated the 2% term deposit either as a

current asset or as a non-current liability. Some candidates did not adopt the
account names as provided in the question.

(b) Poor.  Although most candidates were able to identify the type of inventory

loss caused by the fire, many of them were not able to explain the meanings of
normal loss and abnormal loss of inventory.

8 (a) 65% Satisfactory. Most candidates were able to make correct entries for the
admission and retirement of partners in the partners’ capital accounts.
However, many candidates were not able to work out the gain on revaluation of
equipment accurately. Some candidates lost marks for not giving proper
account names for the postings in the capital accounts.

(b)(i) Poor. Most candidates were not able to differentiate the accounting treatments
for the adjustments to net loss and partners’ salary in the appropriation account.
Some candidates were not able to compute the correct amount for the
depreciation expense under-provided.

(ii) Poor. Most candidates were able to record the appropriate items in the current
accounts, though many did not state the account names as the descriptions of
the postings.

© : Very good. Most candidates were able to state two items that would be
recorded in a partner’s current account.

(d) Satisfactory. Most candidates were able to record the transactions correctly in
the realisation account, though some went wrong in the descriptions of the
postings.

(e) Fair. Most candidates were able to show the balances brought forward and
the share of the realisation loss correctly. Some candidates made mistakes in
transferring the current account balances to the wrong side of the capital

accounts.

General comments and suggestions

Candidates are reminded to read the questions carefully and present TE1F SisWers o1 & by pumen Wid1 4 good
layout and legible writing. Abbreviations are not accepted in accounting entries, especially in ﬁnanclz}l
Statements. Candidates sh;)uld show workings in their answers, so that they can gain some step marks even if

the final answer is wrong.
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(Business Management Module)

Paper 2B
Section A
g Performance in General \
Number | -
were able to define pure risk and speculative risk.

1 (a) | Satisfactory. Most candidates

(b) | Poor. Many candidates were able to state and explain the areas in which liabilitieg could arjge
but some were not able to name the liability insurance precisely.

Fair. Many candidates were able to state three components of the ‘5C’, but they were not able

2
to give a clear explanation of each component.

3 Satisfactory. Most candidates were able to state and explain three opjectives of Providing
training to the drivers of a transportation company though some explanations could be clearer.

4 Good. Most candidates were able to suggest accurately one way 'in Yvhich any three elemen;g
of the marketing mix can be used to market a product in the ‘decline’ stage of the product Jjfe
cycle.

Section B
%?;:E:: Performance in General

5 (@) | Poor. Many candidates failed to list the appropriate types of financing methods for a sole
proprietorship, e.g. some suggested an issuance of ordinary share.

(b) | Good. Most candidates were able to state the correct levels of needs. However, some
candidates mixed up ‘esteem needs’ and ‘self-actualization needs’ in their explanation.

(c) | Satisfactory. Most candidates were familiar with the concepts of customer relationship
management. However, some candidates only stated the advantages without explaining how J
customer relationship management helps increase sales to existing customers.

(d) | Satisfactory. Most candidates were able to outline the limitations of internal promotions.

6 (a) | Fair. Many candidates were able to give the characteristics of service with relevant solutions
fo the problems. - Some candidates mixed up the solutions for the issues of heterogeneity and

inseparability.

(b) Fair: Some capdidates_ only focused on the limitations of questionnaire design but neglected
the issues _assoc1ated with the process of using questionnaire to research customers’ attitude as
described in the question.

(c) | Satisfactory. Most candidates were able to calculat : i
value of the project. ulate the payback period and the net pres

(d) | Very good. Most candidates were able to giy : : G
in (c)(ii) above. give a correct judgement according to their an

(¢) | Poor. Only a few candj . . s t
appraisal method. 'dates were able to give and explain another capital investmen
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section C

Question

Performance in General

Popularity
Number
(a) 48% Satisfactory.
(b)
8 (€))] 52%
process.
(b)

aspect with releva_nt illustration. Some candidates failed to mention all four
aspects of accounting ratios or wrongly interpreted solvency/gearing ratios.

Fair. Many candidates were ab
purposes of providing fringe be
However, some candidates fai
irrelevant explanations.

le to illustrate, with appropriate examples, the
nefits to the employees of an airline company.
led to provide sufficient examples and gave

Poor. Some candidates were able to describe the steps in formulating a
marketing plan for the fashion chain. They provided a detailed explanation in
the required context. However, some candidates were unable to demonstrate a
good understanding of the steps.  Quite a number of candidates mixed up the
steps with those in formulating a market research plan and management

Fair. Many candidates were able to explain the socio-cultural factors and
Psychological factors affecting the buying decisions of the fashion chain’s
customers. They provided enough explanation and gave relevant examples to
illustrate various factors. However, some candidates failed to indicate clearly
the types of factors and some wrongly classified the factors. Also a few
candidates misinterpreted the question as asking about the buying decision
making process.

General comments and suggestions

Candidates need to be able to understand and interpret correctly the meaning and requirements of the questions.
They tended to write down all the material they had memorised related to the ‘key words’ they encountered in
instead of tailoring their answers to the expectations and contexts specified in the questions. Candidates’
flexibility and sensitivity should be enhanced.

Relevant examples are important, especially when elaborations are required in questions. Candidates are
encouraged to follow the business news and analysis in order to improve their understanding of real business
environments.
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